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2 100kN/M%#BZ25 | 1.00 | 0.00 ~ 1.44 121.89 |3mZE#BAB| — ~ — — 100kN/m#%#82z25% | 1.00 | 1061 ~ 1565 121.89 |3mZEBZS -~ — —
ZznLst 1.00 | 1.44 ~ 9.22 100.00 | =nllst | 000 ~ 922|231 12.36 znLs 1.00 |1 6.00 ~ 10.61 100.00 | =hS | 5,00 ~ 1565 2.31 12.36
3 100kN/m%Z#BZ5| 1.00 | 000 ~ 098 114.66 |3mEBZB| — ~ — — — | 100kN/mMi%#Z5 | 1.00 | 1058 ~ 1348 114.66 |3mZiBZ5 -~ — — —
ZznLst 1.00 | 0.98 ~ 876 100.00 | =04y | 000 ~ 876|224 11.99 znLs 1.00 1 6.00 ~ 1058 100.00 | =nS | 5,00 ~ 1348|224 11.99
4 100kN/M%Z#BZ5| 1.00 | 000 ~ 062 109.28 |3mEBZB| — ~ — — 100kN/m%#825 | 1.00 | 11.00 ~ 1278 109.28 |3mZE#EZ% -~ — —
ZznLst 1.00 | 0.62 ~ 841 100.00 | =nllst | 000 ~ 841235 12.56 znLs 1.00 1 6.00 ~ 11.00 100.00 | Fhst | 5.00 ~ 12.78| 2.356 12.56
5 100kN/m%Z#BZ5 | 1.00 | 000 ~ 0.02| 10023 |3mEBZB| — ~ — — 100kN/m%#B25 | 1.00 | 1243 ~ 1248 100.23 |3mZE#EZ3 -~ — —
ZznLst 1.00 | 002 ~ 7.80 100.00 | =nllst | 000 ~ 780 2.62 13.47 znLs 1.00 1 6.00 ~ 1243 100.00 | =N | 6,00 ~ 1248|2562 13.47
6 100kN/m%Z#BZ5| 1.00 | 000 ~ 077 111.56 |3mEBZB| — ~ — — — | 100kN/mMi%#Z5 | 1.00 | 1060 ~ 1282 111.56 |3mZiBZ5 -~ — — —
ZznLst 1.00 | 0.77 ~ 856 100.00 | =nllst | 000 ~ 8566|225 12.03 znLs 1.00 |1 6.00 ~ 10.60 100.00 | Thst | 5,00 ~ 1282|225 12.03
7 100kN/m%Z#BZ5| 100|000 ~ 075 111.15 |3mEBZB| — ~ — — 100kN/m%#825 | 1.00 | 1058 ~ 1282 111.15 |3mZE#EZ3 -~ — —
ZznLst 1.00 | 0.75 ~ 853 100.00 | =04y | 000 ~ 853|214 11.44 znLs 1.00 1 6.00 ~ 1058 100.00 | =hS | 6,00 ~ 1282|214 11.44
3 100kN/m%Z#BZ5| 1.00 | 000 ~ 068 110.09 |3mEBZB| — ~ — — — | 100kN/mMi%#Z5 | 1.00 | 1072 ~ 1282 110.09 |3mZiBZ5 -~ — —
ZznLst 1.00 | 0.68 ~ 846 100.00 | =nllst | 000 ~ 846 2.10 11.22 znLs 1.00 1 6.00 ~ 10.72 100.00 | =ns | .00 ~ 1282|210 11.22
9 100kN/mM%#BZ5| 1.00 | 000 ~ 011 101.54 |3mZ#BRE| — ~ — — — | 100kN/mi%E#Z5 | 1.00 | 11.31 ~ 11.65| 101.564 |3mZiBZ5 -~ — — —
ZznLst 1.00 011 ~ 789 100.00 | =nllsy | 000 ~ 789|201 10.78 znLs 1.00 1 6.00 ~ 1131 100.00 | =hS | 5,00 ~ 11.65| 2.01 10.78
70 100kN/mMZ#8 % % -~ = —|3mZE#BZB| — ~ — — 100kN/m%Z#BZ % ~ — —|3mZEBZ 5 -~ — —
ZznLst 1.00 1000 ~ 477 59.40 | =S 000 ~ 477|176 941 znLs 1.00 | 5.00 ~ 5.00 59.40 | =nLS | 5.00 ~ 500|176 941
100kN/mMZ#8 % % ~ IMEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zhs ~ Zh Lot ~ Zh LS ~ ZhLsh ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
ZhLSH ~ ThLlst ~ LS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m##8 25 ~ ImEFEZD ~
ZhLSH ~ ThLlst ~ LS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m##8 2% ~ ImEFEZD ~
TS ~ ThLLst ~ NS ~ ThES ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/mM%#B 2% ~ ImEFEZD ~
Zhst ~ Zh Lot ~ Zh LS ~ ZhLs ~




